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QUESTION 1

You must synchronize the starting point for Replicat with the restore point of the target database. How should you
accomplish this? 

A. Use the command option AFTERCSN. 

B. Use the command option ATCSN. 

C. Use the command option UNTIL CANCEL. 

D. Use the command option RESUME. 

Correct Answer: A 

 

 

QUESTION 2

What is the function of the GoldenGate JAgent? 

A. It performs connections via JDBC to run the Veridata comparisons. 

B. It enables communication between GoldenGate and Monitor, and Enterprise Manager Agent. 

C. It reads the database transaction logs. 

D. It integrates GoldenGate with Oracle Data Integrator. 

Correct Answer: B 

 

 

QUESTION 3

You have a source table with a PRODUCT_ID column and a target table with PRODUCT_DESCRIPTION 

column. On the target database, there is a lookup table containing product codes and corresponding 

descriptions. 

What should you use to look up the PRODUCT_DESCRIPTION for each transaction? 

A. SQLEXEC ( ) 

B. DBLOOKUP ( ) 

C. DBLOGIN ( ) 

D. SQLLOOKUP ( ) 
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Correct Answer: A 

 

 

QUESTION 4

You want to map exception to an exceptions table using the MAPEXCEPTION option of the MAP parameter. When
should you proceed? 

A. when the names of both the source and target tables in the MAP statement are wildcarded 

B. when there is a unique restriction on the exception table 

C. when there is a primary key on the exception table 

D. when there is a failed operation logged on the source table 

Correct Answer: A 

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWUAD/ wu_errorhandling.htm#GWUAD502 

 

QUESTION 5

Which option is supported by GoldenGate DDL replication? 

A. CREATE ROLE 

B. ALTER SYSTEM 

C. ALTER DATABASE 

D. ALTER TABLE SYS 

Correct Answer: D 

Reference: https://docs.oracle.com/goldengate/c1230/gg-winux/GGHDB/using-ddlreplication.htm#GGHDB-GUID-
B7A3B3AF-B5DE-47B3-8B0F-C6D5FCB5388C 
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